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SED FOR FRUITLAND, PICTURED CLIFFS, MESA

NEW MEXICD OIL CONSERVATH
'GAS WELL TESTDATA SHEET

EXCEPT BARKER DOME STOR.

Pool ﬂ : —— Fomation
Purchasing Pipeline N m s
Operator K huso m} Gas __Lease RMagoa o - : Wéﬂ No. g
Unit ° _Sec. ﬁ _Twp Ll .Rge. ? . quZorze:'F‘rom X 7 To_ gﬂ
Casing: OD. 5‘3’2 wr 35 sea B8 g on @ wr MY 1oper %99
Produced Through: Casing_| X Tubing Gas Gravity: Measured__*ﬁs;___ Estimated
Date of Flow Test: From 19/3 To 19/53‘ * Date S.I.P. Measured 11{1{5? -
Meter Run Size Orifice Size —__Type Chart _Type Taps
OBSERVED DATA
Flowing casing pressure (Dwt) iasig +12 = psia (a)
Flowing tubing pressure (Dwt) psig + 12 = psia (b)
Flowing meter pressure (Dwt) psig +12 = psia (¢)
Flowing meter pressure (meter reading when Dwt. measurement taken:
Nommal chart reading psig+12= psia (d)
Square root chart reading (. ) 2% spring constant = psia {d)
Meter error (c) - (d) or (d) - (c) + = psi ey
Friction loss, Flowing column to meter:
(b) - (c) Flow through tubing: (a) - (c) Flow through casing = psi (f)
Seven day average static meter pressure (from meter chart):
Normal chart average reading psig +12 = (q)

Square root chart average read

ling (_lﬁ) 2 x 8sp. const, I;

)

Corrected seven cay avge. meter press. {pg) (q) + (o) = (h)
Py = (h) + () : : - "
Wellhead casing shut-in pressure (Dwt) i 9& — peig+l2=_ ___ o $)]
Wellhead tubing shut-in pressure (Dwt) - psig+12=__ _ (k)
Pg = (§) or (k) whichever well flowed through = : ﬁ psia 3
Flowing Temp. (Meter Run) &8 °F + 460 = , g °Abs  (m)
Py=%Pc=% (1) = psia  (n)
FLOW RATE CALCULATION P
Q= X 7 = = 2686  \cr/aa
(integrated) ! ;
N(d)
DELIVERABILITY CAI..CULATION N
D=Q m M_ n - & = ﬁi MCF/da.v
863,353 8364
SUMMARY )
Pc _ psia’ CWWHYM
Q = _26h6 Mct/day By —— Originel-Signed
p,= a5k psia . -u- Tt D Gallows¥
Pg= 583 psia Witnessed by .
D = ﬂ Mcf/day Comparnyg
* This is date of completion test.
* Meter error correction factor ] -
REMARKS OR FRICTION CALCULATIONS _
Oy2 -5y 2
GL (1-e%) (F.O2 (FeQy) . (l'e, ) Pt¢ pt2 +R2 Py,
R2 (Column i)
1999 0.138 20,160 e 6708 (69,805 | w6k |
P at 250 = 2641
k’ Y/







